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Third Semester B.E, Degree Examination, Dec 08 / Jan 09
Electric Power Generation

Time: 3 hrs. Wlax. Marks: 100
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Naote : Answer gny FIVE full questions, selecting at least TWO
[from each part,

With a neat block diagram, explain the working of a geothermal power planl. {08 Marks)
“dention any three advanlages and three disadvantages of wind energy. {4 Miarks)
Dizeuss the bepefits of cogeneration. {06 Marks)
ention the application of Diesel - Electric power plants., (03 ¥arks)
With neat hlock diagram, discuss the principle of operation of an open evele gas turbine
plant. Why is its efficiency o™ {18 Marks)
With a neat sketch, explain the principle of pperation and working of biopeneration plant.
(0K Marksh
sdention the advantages and disadvantages of nuclear power plant. {06 Marks)
sention the factors to be cangidered for the selection of site for & hydeo electric power
plant. (06 Marks)
Discuss the functions of condenser, coaling towers and economizer in a thermal plant or
‘hermal porwer station. A8 Marks)
L3st out the advantages and disndvantages of nuclear power plant. (08 Warks)
Discuss some of the safety measures incorporated for nuclear power plant, (07 Marks)
Exzlain the necessity of providing shielding in nuclear power reactors. {15 Marks)
PART-B
Define the following terms : i) Connected load i) Demand factor i) Load [actor
v Diversity factor v} Utilization tactor. {015 Marks)

The vearly load duration curve ¢an he considered as a straight line from 300MW 1o ROMW
for a certain power plant. Power is supplied with one generating unit of 200MW capacily
35d two units of FOOMW capacily each. Determine : 1) Installed capacity i) Load
vactor i) Plant factor v} Maximum demand ) Utilization factor, {10 Marks)
3 sower station is to supply for reglons of load whose peal loads are 106W, SMW, 8MW
1= TNW. The diversity factor of the load at the station ia 1.5 ond averpge annual {yearly)
‘14 factor is 0.6, Calculate maximum demand on the station and anpual energy supplied

fmom the station. (0% Minrks)
s{ention any five objectives of Tanfl. 15 Marks)
Tre Joad ona power plant on a typical dayisasunder

! Time [ 12-%am | 5-0am | S-Gipm '_ﬁpm—lﬂpn_n_]_l{l-lzp_m_i

oadMWy |20 [40 s Jlo0 [0
Diraw the anerpy lnad curve.
Find the power factor of an installation supplying following loads | 3U0KW a1 unity power
Syeror, 1000 KW at 0.9 lagging power factor and LS040 KW at 0.8 lagging power factor.
e the different types of bus schemes of substation (substations).

Diiscuss the locations of reactors in a power systemm. (08 Marhs}
* iz1 out the steps invelved in short cireuit MV A calculation of a power system. (06 Marles)
Th-2cuss the advantages of grounding. {5 Marks)

e shocT notes O
Fzeonant grounding. b, Meutral grounding. ¢ Reactence grounding. d. Eawilluug
T TArSIOEITCL. (20 Murks)




